Low Torque Rotary Joint

MQR Series

1 circuit, 2 circuits, 4 circuits, 8 circuits, 12 circuits, 16 circuits

Metal Seal
Type

How to Order

MQR [F] [4]-

Connection diameter
[mM5 [  WMs5x08

Number of circuits

Low torque
rotary joint
(Metal seal type)

1 1 circuit

2 2 circuits

Options 4 4 circuits

[ Nil [ Standard | 8 8 circuits
[FNoe | Flange | 12 | 12 circuits
Note: No flange type in 1 16 16 circuits

circuit system
e

Options/Mounting Bracket

1
ol
Number of circuits Flange part number 1
2 circuits MQR2-F - :
4 circuits MQR4-F a . J
irelf | S
8 circuits MC?RS-F b, . 8 E.
12 circuits MQR12-F =1 B =
16 circuits MQR16-F ;;;J =8 8 o 1 \aT% (CHCED) ‘y; YooY
~ 0 =)
Specifications
—
Model MOR1-M5 | MQR2-M5 | MQR4-M5 | MQRS-M5 | MQR12-M5 | MQR16-M5
Number of circuits (Number of ports) 1 2 4 8 12 16
Fluid Air
Seal structure Metal seal

Guide structure

Bearing supported

Bearing supported at both ends

Male R 1/8

Port size
Female M5 x 0.8 M5x08

C 0.50 [dm¥(s -bar)]
Flow rate b 0.40
characteristics -

Cv 0.17
Lubrication Not required
Min. operating pressure -100 kPa
Max. operating pressure 1.0 MPa
Ambient temperature

-10to0 80°C

and operating fluid
temperature Note 1)

Maximum start-up rotation torque Note2)

0.003 N-m or less

0.03 N-m or less

0.05 N-m or less

0.10 N-m or less

0.20 N:m or less

0.50 N-m or less

Allowable rotation number Note 5)

3000 min” (rpm) or less Note3)

2000 min" (rpm) or less

1500 min" (rpm) or less

900 min" (rpm) or less

600 min” (rpm) or less

200 min" (rpm) or less

Allowable radial load
(allowable coupling axis

reaction) Note 4) 1Norless 15N or less 30 N or less 40 N or less 50 N or less 50 N or less
Allowable axial load
Weight 0.025 kg 0.16 kg 0.39 kg 0.76 kg 1.26 kg 2.80 kg

Note 1) The temperature 80°C includes temperature rise during rotation.

Note 2) The start-up torque does not change with the supply pressure or with non-use (remains within the maximum start-up rotation torque), but it does change with
the rotation number. (Refer to page 660).

Note 3) If using at a speed above 600 min” (r.p.m.), ensure rotation is in the direction in which the joint is fastened.

Note 4) Rubber / resin couplings are recommended due to their excellent absorption of off center, shocks, and vibrations.

Note 5) min": Number of rotations per 1 minute

659



MQR series

Construction
MQR1-M5 5
\4

MQR2 to 16-M5

Component Parts/(MQR1 - M5, 1 circuit)

No. Name Material Remarks
1 Body Stainless steel
2 | Spool Special stainless steel
3 | Sleeve Special stainless steel
4 | Plate Aluminium
5 | O-ring H-NBR
6 | Retaining ring Carbon steel
7 | Retaining ring Carbon steel
8 | Radial bearing

Component Parts/(MQR2 to 16 - M5, 2 to 16 circuits)
No. Name Material Remarks
1 Body Aluminum
2 | Adapter plate Aluminum
3 | Spool Special stainless steel|
4 | Sleeve Special stainless steel
5 | Gasket H-NBR
6 | Bearing holder Stainless steel 16 circults only
7 | Gasket H-NBR 16 circults only
8 | Plate Aluminum 16 circults only
9 | Flange Aluminum
10 | Parallel pin Carbon steel Except for 2 circuits
11 | O-ring H-NBR
12 | Bolt Carbon steel 16 circults only
13 | Bolt Carbon steel
14 14 | Bolt Carbon steel
Leakage according to differential pressure 15 | Radial bearing —
10000 i
T 9000 MQR16
§ 8000
E 7000
% 6000
é 5000 MQR12
1o
$ e
5 2000 [ QR21 e.g.: If adjacent ports are connected to vacuum pressure of -0.1 MPa
o 1000 — MQR1-+ and positive pressure of 0.1 MPa in MQR16, then differential
(800) [ e —T1 pressure is 0.2 MPa, and leakage is 800 (cm¢/min).

% o1 02 03 04 05 06 07 08 09 1

Differential pressure [MPa]

Note) These values show reference values and are not guaranteed.
Temperature rise with rotation number

Change in rotational torque with rotation number

30
MQR4 |00,
MQR1
MQR8

g 20
2 MQR12
° MQR16
2 10 |
3
Q
: / -
[ /

OO 500 1000 1500 2000 2500 3000 3500

Rotation number [min-'(rpm)]

0.6 |
MQR16
. 05
€
=4
— 0.4
(0]
>
g
S o3 —MQR12
5 MQRS
S o2 MQR4 | mqR2
8 | —
o
o 0.1
MQR1
0 0 500 1000 1500 2000 2500 3000

Rotation number [min“!(rpm)]

Note: Value when no pressure applied. Temperature rise is
reduced by supply of air.
Note: These values show reference values and are not guaranteed.

660

Note) These values show reference values and are not guaranteed.



Dimensions: Standard Type/Flange Type
MQR1-M5

2
3 <
<] S
5 SIS
© £
<™ 3|ls
B| 8 S|
g"g B

7220

\\S2Y)
NS
(162) \M5 x 0.8
014
07.6
RALLH
w0,
&3
g
M5 x 0.8
MQR4-M5
M5 x 0.8 5.5100 2xM3x0.5
thread length 10 thread length 6
P.C.D.38

* Flange: MQR4-F
(for MQRF4-M5)

* 45
*[137
)\
a1l
&

NN = %
03+5'depth 10 * 4 x 93.5 mounting hole
244h8
©
b (10 from end) 520
S .~ [020
I o
D r as
x| o
S
o 1
21§
3 N 7[R
. £
8xM5x0.8
210 counter bore
depth 1.5
0
2xM4x0.7 \
thread length 8 ! 5
P.C.D.38 : é 2
AN 2, Y
3

Low Torque Rotary Joint .
Metal Seal Type M QR Series

* Symbol indicates flange dimensions

MQR2-M5
237 'depth 10 * 35 M4 x 0.7
*[J29 _ | /thread length 8
I AN

% * Flange: MQR2-F
/(for MQRF2-M5)
5

P.C.D.29
235h8
(10 from end)
4 xM5x0.8 | f 215
210 counter bore ‘ ~
depth 1.5 ; 1
3]
© e
1B 10
<=2
IS8
©
Y
| :
[TolNTe]
©| o) 0|
kS
2 m[

2 x M3 x 0.5 thread length 8
PCD.29

MQR8-M5

M6 x 1 thread length 10

' * Flange: MQR8-F
j ‘/ (for MQRF8-M5)
: \* 4 x 24.5 mounting hole

049h8 16 x M5 x 0.8
025 | (10 from end)| /510 counter bore depth 1.5
] ™
: }
&
< 2
5 3
o A
NE 4 ,4'\3*»' SE
x |~
o & I
o
&
T
+
w0)|io]<]
N~is

2xM4x0.7
thread length 8
P.C.D.43

661 @



MQR Series

Dimensions: Standard Type/Flange Type # Symbol indicates flange dimensions

MQR12-M5 MQR16-M5
1005 M8 x 1.25 thread length 10
ms x(}l 5 g 4xM3x0.5 051" "depth 8 10200 4xM3x05
read leng

/d
S

* Flange: MQR12-F
(for MQRF12-M5)

B
~~* 4 x @8 counter bore 5.5

4.5 mounting hole

thread length 6

* Flange: MQR16-F_—

(for MQRF16-M5) 064h8
054h8 (10 from end)
24 x M5 x 0.8 (10 from end) 16 x M5 x 0.8 ‘_2—457
030 ©13.5 counter bore 1
210 counter bore e |® 1 S
depth1.5 :
o
=}
o
[ )
- 8
3 X 2
I -
o N
@
i
5 a
0
~
« \K’_ I} .
T
Lollte)
] i 019 >
- ©240H8
16 x M5 x 0.8 R

Mounting Bracket/Flange

@10 counter bore 1.5 1"4

8xM3x0.5
thread length 6
P.C.D.54

MQR2-F 4 x 93.5 mounting hole MQR4-F 4 x ©3.5 mounting hole MQR8-F ﬂg@
&
) ARy
=] ;\J .
035 L%J
MQR12-F 4 x 04.5 mounting hole MQR16-F

s

055

® 662




